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1 I & 131, 401 118, 991 121, 561 A 9.4 2.2 A 1.4
(1) BZFEUNEE 65, 838 61,127 54, 662 A 7.2 A 10.6 A 3.3
FHEULA 65, 735 61, 030 54,597 A 7.2 A 10.5 A 3.3
SZEIERE 0 0 0 — — -
(2) BEUNEE 65, 563 57, 864 66, 899 A 11,7 15.6 0.4
MhEEHEAS 65, 563 57, 864 66, 899 A 11,7 15.6 0.4
2 BEH 127,935 116, 925 122,106 A 8.6 4.4 A 1.0
MWExXEHR 125, 853 114, 482 120, 146 A 9.0 4.9 A 1.1
BEKEE 43,610 43,332 45, 688 A 0.6 5.4 A 0.1
ZEIEE 0 0 0 - - -
QEENER 2,082 2,443 1, 960 17.3 A 19.8 11.0
HhAEF R 0 0 0 — — -
3 UNFEHURZ ES| 3, 466 2,066 A 545 A 404 A 126.4] A 176.9
1 BARMULA 0 0 11, 242 — ®oow -
Mt A & 0 0 0 — — —
Q) th&EHEAE 0 0 11, 242 - | B B —
2 BEXRMZH 0 0 11, 242 — ®oow -
(N EBERUEE 0 0 11, 242 - 5 = -
Q) HhAEEES 0 0 0 — — -
3 BEXRpURZESI 0 0 0 — — —
1 REEES 3, 466 2,066 A 545 A 404 A 126.4] A 176.9
2 BIRXZ 11, 789 13, 855 13, 310 17.5 A 3.9 28.6
3 FBEINX 11, 789 13, 855 13, 310 17.5 A 3.9 28.6
1 WABRRES 0 0 0 - - -
1B XH 3 3 3 0 0 —
BERDhDEEH 0 0 0 - - -
IR RN T FRF B EH 0 0 1 — 1 -
FEWNEZFRFEEHR 0 0 0 — — —
1 U R 102.7 101.8 99.6 A 0.9 A 2.2 —
2 BEFINKLEE 52.3 53.4 45.5 1.1 A 7.9 —
3 BHEEREKRFLEE — — 0.0 — — —
1 FENRFEATESH (AN) A 102, 903 101, 873 91,572 A 1.0 A 101 -
2 FEXRFRHEH (N) B 22,600 22,475 21,239 A 0.6 A b5 -
3 F A =E B/A x 100 22.0 22.1 23.2 0.1 1.1 —

4 FERKEBEFIREESR (N) 46, 922 45, 599 46, 715 A 2.8 2.4
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